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IS lmmeas |snas  |sEEmass|
1-1-1-1  1HREESHE Frmc5= 6.0% 4.0% 2.5%
1-2-1-1 2#RBESHE FR108 KiFEFHY 7.0% 4.0% 13.0%
1-2-1-2 2fpEESAE FHHR10m HFEGL 7.0% 4.5% 3.5%
1-3-1-1 S#HFEHELAE Fm20m HIEAY KAEHEREFTY 3.0% 1.5% 7.0%
1-3-1-2 BHFEELSAE FHH20m HIFEFY KAZEHRRELL 3.0% 1.5% 7.0%
1-3-1-3 BH{HEELSAE FHE208 KiIFELGL KAEHBZERY 3.0% 1.5% 2.5%
1-3-1-4 BFEELHE $HH208 HIEGL KABHHRELL 3.0% 2.0% 2.5%
1-4-1-1 AMREESAE HA358 KAEZEHBZELZL KEFY 3.0% 3.5% 12.5%
1-4-1-2 AfFEESBE FHA358 KAZEHRELL HFELTL 3.0% 4.0% 4.5%
1-5-1 HESKRE HR10m #h R (EE) 5.0% 47.0% 11.5%
1-5-2 HESDHRE Ha10m #h EES(EmEEEE) 5.0% 50.0% 11.5%
1-5-3 HESKRE FHR10R HTHEEE 5.0% 35.5% 11.5%
1-5-4 HELDKE Fm10m BLIEBFR 5.0% 22.5% 5.0%
1-5-5 HEARE HR10m a9 —MERE 5.0% 8.5% 5.5%
2-1-1 KERE 1HKERZER 4.5% 1.5% 1.0%
2-1-2 KERE 28pKER=ER 3.0% 1.5% 1.5%
2-1-3 KERE STHKERZER 2.0% 2.5% 1.5%
2-1-4 KERE ABKERNSER 1.5% 5.5% 2.0%
2-2-1 KERRE KERKE CGRAER) 4.0% 36.5% 4.0%
2-2-2 KELHKE KELFRE GKAZRLSY) 2.5% 5.5% 9.0%
3-1-1 BiERE FEFHE 0.0% 0.0% 0.0%
3-1-2 BRigllE RhEE 3.0% 18.0% 0.0%
3-1-3 BIERE K 3.0% 8.0% 0.0%
-1-4 BRFEHE BEREGEHEROEE) 3.0% 8.0% 0.0%
3-1-5 BIEAE BRERE 1.5% 5.0% 0.0%
3-1- 6 BiAE IPRE 3.0% 8.0% 0.0%
3-1-7 BEEAE MERE 4.0% 9.5% 0.0%
3-1-8 BigAE RBMERERIE 2.0% 5.5% 0.0%
3-1-9 BiERE MER= 2.0% 8.5% 0.0%
3-1-10 HRiFAE HEEA= 2.0% 8.5% 0.0%
3-1-11 BRiRR=E A= (RETR=) 2.0% 19.0% 0.0%
3-1-12 RiRAIE FHA = (EER=) 2.0% 11.0% 0.0%
3-1-13  HiRAE FAHiEMERERNS 3.0% 10.0% 0.0%
4-1- 1 AIRE EEEE 0.0% 0.0% 0.0%
4-1- ANIGRE RithEE 2.0% 14.0% 0.0%
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RtAIE SHLRAMBRETERS MTERER
RRIE AHLFAMBRETERE KESER
RtAIE NHRAMBREERE HESER

By BE(BEEHER 174, 000) mecitE

B2 BE(BEEMHER 1.4, 000) EFRERK
B BE(BEEMR 1.4, 000) EEHHES
B BE(BEMHR 1.4, 000) #2

By BE(BEHER 174, 000) BEMNE(HE)
BE BREZ(BEMER 174, 000) BEHEWLE(HF—)

By BE(BEEHER 1.8, 000) mecitE

B2 BE(EEMHER 1.8, 000) EFRERK
B BE(BEEMR 1.8, 000) EEHHEE!
B BE(BEMHER 1.8, 000) #2

By BE(BEHER 1.8, 000) BEEMNE(HE)
B BEZ(BEEHER 1.8, 000) BEEMNE(H5—)

B BE(BEEMR 1712, 500) HEHE

B BE(BEEMHR 1712, 500) EERER
B BE(BEEHR 1712, 500) EERER
By BE(BEEHER 1712, 500) %2

B BEZ(BEMHER 1712, 500) EENE(HE)
B BE(EE#HR 1712, 500) BEELE(HS5—)

By BE(BEHER 1712, 500-Li8) BRETE

B BZ(BEHER 1712, 500-518) EERER
By BE(BEHER 1712, 500-hid) EERER
B BE(BEEMHR 1712, 500-Lig) %2

B BEZ(BEHER 1712, 500-hid) EELE(HE)
BE BRE(BEMER 1712, 500-LiE) BSELE(A5—)

EEARUZEG=AHE NTEHORE
(BE#fHER 1.4, 000)
ZERRUZER=AHE HNTEHORE
(BE#HR 1.8, 000)
EEARUZEG=A0E SNTEHORE
(BE#fHER 1712, 500)

BERRUVEH=AIE BEERANE

BERRUVEHR=HAUE FEt
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S 1E£4 BB R MHERE BEERESEE
7-3- 6 ZEARUEGR=/AAIE HEKENE 3.5% 3.0% 0.0%
7-3-9 EEARUVER=/AAE Th=AFAE(BHa1—X) 27.0% 3.0% 0.0%
7-3-10 EZEEARUVEF=FAFE Zh=AA=(TOvY) 8.5% 0.5% 0.0%
7-4-1-1 Kt #HERIE LANIILS500 FEEHE 0.0% 1.5% 0.0%
7-4-1-2 Xt #HERIE LAXJIL500 BRihEE 5.5% 12.0% 0.5%
7-4-1-3 K1t #HERIE LANIIL500 #HERIE 53.0% 1.5% 0.0%
7-4-1-4 Xt #HERIE LANJIL500 H{EMRSE 6.0% 0.5% 0.0%
7-4-1-5 [t #HERIE LAJIL500 #HBlRSE 6.0% 2.0% 0.5%
7-4-1-6 Xt HERIE LARJIL500 HiEHFERT -477/0DIERK 5.5% 0.0% 0.0%
7-4-2-1 X1t #HERIE LAJL1, 000 {EEEHHE 0.0% 2.0% 0.0%
7-4-2-2 Xt #ERIE LARJL1, 000 RAE 4.5% 9.0% 1.0%
7-4-2-3 X1t #HERIE L)1, 000 #HERIE 65.0% 1.5% 0.0%
7-4-2-4 Xt HERIE L~RJL1, 000 #EHRSE 7.0% 0.5% 0.0%
7-4-2-5 X1t #HERIE LJL1, 000 #HiBlfRE 7.0% 4.0% 0.5%
7-4-2-6 Xt H{ERIE LANJL1, 000 HEHAZRT —477/ W DIERK 5.0% 0.0% 0.0%
7-4-3-1 X1t #HERIE LARJL2, 500 FEFHE 0.0% 1.5% 0.0%
7-4-3-2 Xt #HERIE LARJL2, 500 RitfFE 4.0% 11.0% 0.0%
7-4-3-3 X1t #HER{E L~JL2, 500 H#HERIE 47.5% 1.0% 0.0%
7-4-3-4 Xt #HERIE LARJL2, 500 #iERSE 5.5% 0.0% 0.0%
7-4-3-5 [t HERIE LARJL2, 500 #HBliRSE 7.0% 2.0% 0.0%
7-4-3-6 Xt H{ERIE LAJL2, 500 HEMAZRT-4771VDERK 5.5% 0.0% 0.0%
7-4-4-1 Kb BIRLE#E/L LA)L2, 500 {EXEHE 0.0% 0.5% 0.0%
7-4-4-2 X1t BEFE#EILL LAJL2, 500 FHBIFEERER 2.0% 14.5% 0.0%
7-4-4-3 X1t BIRE#EIE L~JL2, 500 FHiEl 10.0% 0.5% 0.0%
7-4-4-4 Xt BEIRE#H{ELL LANJL2, 500 #RE 7.0% 0.5% 0.0%
7-4-4-5 Xt BEREZEIL LARJ)L2, 500 HiE#MFERT 4771V DIER 1.5% 1.5% 0.0%
8-1-1 Bl HihiBI= (S=1/500) 8.0% 3.0% 1.5%
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